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Question 1.Select the related word/letters/numbers from the given alternatives:

&3 a3 fashont & A Hafetrd eee/3ERI/HEAT H gfAT|
College: Student: : Hospital: __?__

SPlorel : TIF &2 3T : ?
Options:

1) Doctor

ST

2) Treatment

EREILS

3) Nurse

|

4) Patient

E

Correct Answer: Patient

!

Candidate Answer: Patient

E

Question 2.Select the related word/letters/numbers from the given alternatives:

T3 T Taehont 7 @ Hafotrd efee)/3ERI/EEAT H AT |

DHL: PTX :: BFJ:?

Options:
1) NRV

2) RVZ
3) CGK

4) KOS
Correct Answer: NRV
Candidate Answer: RVZ

Question 3.Select the related word/letters/numbers from the given alternatives:

& o Tashedt # @ Hafeerd efec)/ 3R/ 6 # gfav|
5:124::7:7

Options:

1) 125

2) 248

3) 342

4) 343
Correct Answer: 342
Candidate Answer: 342

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives

39 Y H QU a0 fehout 7 § fawe eee/ 31eR/ HEar 39A giv|
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Options:

1) Hard:Soft

FOR : T

2) Hot:Cold

e ST

3) Right:Wrong

T : T

4) Come:Arrive

3ATeT : C|§€IF|T

Correct Answer: Come:Arrive
HATAT : QE'ﬂHT

Candidate Answer: Hot:Cold
I : BuT

Question 5.

For the following questions

Find the odd word/letter/number from the given alternatives

39 e # U 10 fashed & & fawH erec/ 3eR/ HEAT I7A IiAv|

Options:
1) AG

2) WA
3)ET

4)1Q
Correct Answer: ET
Candidate Answer: ET

Question 6.

For the following questions
Find the odd word/letter/number pair from the given alternatives

38 e # U 1T fashed & & TA9aH elec/ 3eR/ HEAT J7A AT |

Options:
1) 14, 12

2) 24,7
3) 42, 4

4) 37,4
Correct Answer: 37, 4
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per the order in the dictionary

AT 2reel T Qreeehier & TR shaf 3 fored |

1. RESIGN 2. REPAIR 3. RESIDUE 4. RESEARCH 5. RESCUE
Options:

1)45312

2)25431
3)25413

4)54312
Correct Answer: 25431
Candidate Answer: 25431

Question 8.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

58 9T 7 U S@en & 915 B, TG Uk e o &1 v 1w e # & a5 F6r e v S siwrer @ |
JAZ, LEX, NIV, PMT, ?



Options:
1) QUR

2) RQR
3) SUR

4) RUS
Correct Answer: RQR
Candidate Answer: RQR

Question 9.A series is given with one term missing, Choose the correct alternative from the given ones that will complete the series.

3 YT H Toh S@el & 1S &, Forae Ueh ug o 81 e ¢ faehedl & @ g FET faehoq iAT St Ssirel 1 @ |
19, 28, 39, 52, ?, 84

Options:
1) 39

2) 52
3) 67

4) 84
Correct Answer: 67
Candidate Answer: 67

Question 10.X and Y are brothers. R is the father of Y. T is the sister of S who is maternal uncle of X. How is T related to R?

XIRYHSEIR, YHRATE, T, SHTEA LIS, X FIAFATE| T FIR T FATHIL § ?
Options:

1) Mother

HIAT

2) Wife

Eroi

3) Sister

Erol

4) Brother

a

Correct Answer: Wife

1

Candidate Answer: Wife

1

Question 11.A is taller than B. C is taller than A. D is taller than E but shorter than B. Who is the tallest?

A, BATETE | CA QT D,E ol § oifeheT B & O &1 TeeTaR , 378 Fearll ofell hieT & ?

Options:
1)C

2)A
3)D

4)B
Correct Answer: C
Candidate Answer: C

Question 12.From the given alternative words, select the word which can be formed using the letters of the given word.
Al fashed] & & g 2fee AT Sl QU 31T 2Teq o I7ERT T TLWT FXeh T S FebelT &1

SOMNAMBULISM

Options:

1) NAMES

2) BASALT

3) SOUL

4) BIOME
Correct Answer: SOUL
Candidate Answer: SOUL

Question 13.If D = 4, DOG = 26, then find the value of ANIMAL= ?

Ifg D =4, DOG = 26 dr ANIMAL & Al 1T HIfST|



Options:
1) 47

2) 49
3)48

4) 50
Correct Answer: 50
Candidate Answer: 50

Question 14.If '+' stands for '+, '-' stands for '=', 'x' stands for '+', '+'stands for greater than, '=' stands for less than, '>' stands for multiplication and '<' stands for
subtraction, then which of the following alternatives is correct?

G +, + & AT AT, -, = & TAT AT E, X, + & AT IACATE, +, A3 & 0 AT, = Al o AT 37T g, > TN & AT 37 8, 3R < vew & fow ararg, ar few
T Aheat & A i O1 [Aehed TET 872

Options:
1) 5+2x1=3+4>1

2) 5>2x1-3>4<1
3) 5x2<1-3<4x1

4) 5<2x1+3>4x1
Correct Answer: 5>2x1-3>4<1
Candidate Answer: 5>2x1-3>4<1

Question 15.In this question, some equations are solved on the basis of a certain system. On the same basis find out the correct answer from amongst the four
alternatives for the unsolved equation.

FS THHIOT Teh AT JOTel F gl TohT 1T | 3 3MUR 9% T 1T faehot 7 & T 3eck goae fof@e ?

3X4X5 =435

4X3X2 = 342

2X3X4="7?

Options:
1) 324
2) 342
3) 432

4) 243
Correct Answer: 324
Candidate Answer: 324

Question 16.In the question, selection the missing number from the given alternatives.

9% # feT 1T fashed] & & ofec H&T AT HIAT |

6 15 20

8 4 5
3 5 20

51 65 °?

Options:
1) 56

2) 120
3) 151

4) 154
Correct Answer: 120
Candidate Answer: 120

Question 17.Ram walks 3 km towards East and takes a left turn and walks for one km before he turns left and walks 2 km to take another left turn to walk for another
one km. How many km is he away from his starting point?

T T T 3 3 R, Tofam & 3R S10 Az 1 .. i §1 T o170 773 T a8 2 TR 3R wefar & | R Ue S 3IR 910 gt 1 TR, TeiT €1 98 YRS S &
et oA gy &



Options:
1) 1km

1 @R
2) 2kms
2 [
3) 3kms
3 R
4) 4kms
4 fR.a.

Correct Answer: 1km
1 .o

Candidate Answer: 1km
1 R

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: All fruits are leaves. Some fruits are grapes.

Conclusion I: Some leaves are grapes.

Conclusion II: All grapes are fruits.

Arfaf@d uea & ve a1 &)Y gy Y T ¥, TS 3T & sk /A, 1 33 11 Rkl ) €| 3maent TR 9T & & gorded Ocd § I1¢ 98 TAEId: 9d azai &
T I 8T 8T 3T AV T § T GU 910 gy & O ia-a1 A Rad 7 & TET sy /HeadT fAehrell 5 Ahar & ?
Y : T el ITceTal § | S el 3R B

o : 1. g5 dfedar iR &1

IL. W97 3R e B

Options:

1) Only conclusion I follows

el sy [ TEr g

2) Only Conclusion II follows

Facl fasay I1 T &

3) Both conclusion I and II follows

AT sy @@ 1

4) Neither Conclusion I nor II follows

AT AT SRy 1 3R A7 &) sy 11 Tgr 81

Correct Answer: Only conclusion I follows

el sy [ T8 &

Candidate Answer: Neither Conclusion I nor II follows

AT aY fAsehy I 3R a7 &) Py 11 Ter 1



Question 19.Find out the number of triangles in the figure given.

o g oy 3 very g €2

Options:
1)6

2)8
3) 10

4) 12
Correct Answer: 12
Candidate Answer: 10

Question 20.Which one of the following diagrams represent the correct relationship between DOCTORS, SURGEONS and NURSES

AT & A Pl AT 3ING 3laeX, Tolell TUT AT & I TEY T T AT &2
Options:

©o
ot

O
am

Correct Answer:

Qo

Candidate Answer:

(-



Question 21.Which answer figure will complete the pattern in the question figure?

T T S MR T&T 3Tt & Ficred i O e ?




Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded?

& 978 3ea 3Tt 3 ¥ 38 3eal A F AT ot get st e ar i g1

Options:
1)

2)

3)

4

Correct Answer:

Candidate Answer:




Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

AT TeaT T 7 fEWIT IR ST I HISHT FIeeT AT Wiele! F F1G J6 (e Sl eI SHT fGwTS & 2

Options:
1)

3)

4)

Correct Answer:

O
[a] Q

Q

Candidate Answer:

O
=] e

O

Question 24.If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure?

T Teh G907 h MN @M OR I@T SR oY &1 918 3ok JTehicral 7 & lat A ehf FeaT 3Tepfer 1 \gr wiaifas g ?

NN N Y AR




Options:

Ny

2)

h?

3)

7

4

—

Correct Answer:

Candidate Answer:

R

Question 25.In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its tow and next by its column. e.g. 'A' can be represented by 22, 10 etc and 'P' can be
represented by 55, 67, 79 etc. Similarly, you have to identify the set for the word "NEAT".

Tefof@a weet # fasredt 7 v a1v wear-awg, 3w & o it gany ariiv arw §, S fon o fqw 1w & ameggt o §1 3megg 1 & aawe 3k dfeq A aear 0 ¥4 & &
TS ¢, IR IR 11 & 5/ 9 A, 37 TeY@! A Teh AN &Y gl 3Tt G 3R a1g 7 TA97 HEAT SIRT GITT S FhelT &1 36T60T & fow, A &t 22,10 3n1fe gamr axfrar s
T § AT P Y 55,67,79 3TTE GIRT GATAT ST Hhell ¢ SH LG & 3T 'NEAT' 215G & T H8Y Fafg ht Tgaimetett &

0 1 2 3 4 5 6 7 8 9
0 L N E A C 5 P T 8] R b
1 A C L N E 6| R £l P T o]
2 N E A C L nT Q R S P
3 C I N E A 8 S5 P T Q R
4 E A C L N 9 O R S P T
Options:
1) 44,14,34,56

2) 20,33,78,75
3) 13,40,67,99

4) 32,21,41,68
Correct Answer: 32,21,41,68
Candidate Answer: 32,21,41,68

Question 26.Which one of the following is not a scheme/project of the present Government?

rfaf@d 7 & FlaT-8 AT TTART TSR T 76T ¢ ?



Options:

1) AMRUT

Iqd

2) Swachh Bharat
TS AR

3) AYUSH

3

4) Jan Dhan Yojana
STeT €T ATSTIT

Correct Answer: AYUSH
Y

)

Candidate Answer: AMRUT
AHT

[3

Question 27.Which of the following was India's first interplanetary mission?

AT 7 & P-T1 9IRT FT IgeT ScdRarge R a7 ?
Options:

1) Chandrayaan Mission

Tog Tt ARt

2) Mangalyaan Mission

HIToRITeT AR

3) Aryabhatta Mission

3TeTE fARE

4) Philae Mission

et fereT

Correct Answer: Mangalyaan Mission
HaTerITeT AT

Candidate Answer: Aryabhatta Mission
3w AR

Question 28.Why the Earth is having its own atmosphere ?

Gl T 39T TGS T4 § ?
Options:

1) Winds

ELLA

2) Clouds

Ciccl)

3) Gravity

TECATROT ATFT

4) Rotation of the Earth

g2l & gute

Correct Answer: Gravity
TecaTRYOT i

Candidate Answer: Gravity
TECATRNOT AFT

Question 29.Motor skills are associated with which part of the brain?

I RIS ATETSH & HleT-I 19T o T Foa 0T & ?
Options:

1) Frontal lobe

oTellc 1T

2) Parietal Lobe

IEGIRRIES

3) Temporal lobe

SlifeRen T

4) Occipital Lobe

gRIhyTel HTT

Correct Answer: Frontal lobe
ofellc 1T

Candidate Answer: [ NOT ANSWERED ]

Question 30.Which enzyme is present in all members of the animal kingdom except Protozoa?

SIS & 3Tl HieT-HT TeollgH TOTSTaTd o el Heedi & Hiolg, ¢ ?



Options:

1) Insulin

segfot

2) Pepsin

qftaeT

3) Renin

e

4) Amylase

ufaeE

Correct Answer: Amylase

uffer
Candidate Answer: Insulin

o -]
Question 31.At boiling point of liquids , its

el I & FIUeATR TN

Options:

1) Temperature increases

ATTAT TG §

2) Atmospheric pressure increases

AHESA B TG §

3) Temperature remains constant

AIA fad T o

4) Vapour pressure decreases

ITSYES edT §

Correct Answer: Temperature remains constant
AT o war

Candidate Answer: Temperature remains constant
AIA fHad T8

Question 32.A level of atmosphere which is composed partly of electrons and positive ions is called

ATATERT T T TR 511 Sorcied IR Uellcdeh 3T & FHo 3 3 0T § o1 § T gl 82
Options:

1) Troposphere

R

2) Ionosphere

AR

3) Stratosphere

weferaR

4) Mesosphere

AATERIRX

Correct Answer: Ionosphere
ITAIRHIX

Candidate Answer: [ NOT ANSWERED ]

Question 33.In India which of the following taxes is levied by the State governments?

HRA A AT @ & @ FleT-81 W T TIHR TR TG ST § ?
Options:

1) Excise duty on liquor

T T JTTHRT Yosh

2) Capital gains tax

Goherer 37fHemsT

3) Customs tax

TAT Yok

4) Corporation tax

A =

Correct Answer: Excise duty on liquor
T T ITTHRT Yosh

Candidate Answer: Customs tax

T Yok

Question 34.After question hour, a motion moved by a Member of Parliament to draw the attention of Executive for discussing a definite matter of public importance is

2T el & TG, AT & el FEEd SaANT SHeTelT & Fged & (el oI read A Ox fraR-faetel & Fie & €2meT ayor & [T 3@ a1 JaTd &7 FgerdT § ?



Options:

1) Privilege motion
fRMRIER g&da

2) Calling attention Motion
€T JTHYOT JEATT

3) Adjournment motion
BT TEAT

4) No- confidence motion
fAeara g

Correct Answer: Adjournment motion
T TEITT

Candidate Answer: [ NOT ANSWERED ]

Question 35.The major objective of monetary policy is to

Filfgen A T HET 32T FATEIAT §?

Options:

1) increase government's tax revenue

T A e

2) revamp the Public Distribution System

SieT fareoT JoTel & Fer

3) Promote economic growth with price stability
Ao FRRAT & |1y 3 A &1 Hieafed aer
4) weed out corruption in the economy
HICTTET § HSTAR H gl

Correct Answer: Promote economic growth with price stability

Fea e & ar 3nfde R i diearfed aer
Candidate Answer: [ NOT ANSWERED ]

Question 36.The only Viceroy to be assassinated in India was

g THA AR HleT I TSHeTeht 81 # g g8 o
Options:

1) Lord Harding

1S gifdar

2) Lord Northbrook

S Aty

3) Lord Ellenborough

WS TelTaRY

4) Lord Mayo

oS Ay

Correct Answer: Lord Mayo

s At

Candidate Answer: [ NOT ANSWERED ]

Question 37.Which one is not the main objective of fiscal policy in India?

AR # faecia A 1 9@ 387 e 781 ¢ ?
Options:

1) To increase liquidity in the economy

TCTTET H AT Tt

2) To promote price stability

e TRRAT &1 Acaied e

3) To minimize the inequalities of income & wealth
ITHEAT IR FFafed AT AFAETAT T HH FEAT

4) To promote employment opportunity

USIR & IGERT FT FcdIed AT

Correct Answer: To increase liquidity in the economy

TCTTET H el Tt
Candidate Answer: [ NOT ANSWERED ]

Question 38.Who was the founder of the Theosophical Society?

'FRATaiherer TARC! & TEATISH HieT & ?



Options:

1) Justice Ranade

SfecH T

2) Madam Blavatsky

HeHA sagaht

3) Annie Besant

VAT ST

4) Bal Gangadhar Tilak

el IameR fern

Correct Answer: Madam Blavatsky

HeH sagawhT
Candidate Answer: [ NOT ANSWERED ]

Question 39.India recently signed land boundary agreement with which country?

BTl 8 7 $IR o foher Ser o Ay S1-Tewr sl OX g o 2
Options:

1) China

AT

2) Nepal

AqTer

3) Bhutan

§ereT

4) Bangladesh

SiTceRr

Correct Answer: Bangladesh

SiTereRr

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who among the following Indians is one who has been selected on July 27,for the Ramon Magsaysay Award, 2016?

ol SR 7 & 27 oS 2016 T T HIET TR F forw fomg o amr & 2
Options:

1) Bezwada Wilson

Sorarst faeast

2) Kailash Satyarthi

SHemr Feardt

3) Kiran Bedi

FoRToT 9T

4) Mahasweta Devi

HETRAT ot

Correct Answer: Bezwada Wilson

SorarsT faeaet
Candidate Answer: [ NOT ANSWERED ]

Question 41.The first Field Marshall of India was

IR T JUH $les AR HiT A?
Options:

1) A. S. Vaidya

T. TH. dear

2) K.M. Cariappa

. TH, HRICIT

3) Sunderiji

ﬂﬁﬁﬁ

4) S.H.F.J. Manekshaw

TH. T, TH, . AR
Correct Answer: S.H.F.J. Manekshaw
TH. UF. T, o, Al

Candidate Answer: [ NOT ANSWERED ]

Question 42."Earth provides enough to satisfy everyman's need but not everyman's greed". Who said this?

"Rl T3 & e o forw g7 afesk aelr Y araeaeranstt i qftt & fov g2ied ae 3uest Fdt § I FUeT e aer a1 ?



Options:

1) Guru Nanak Dev

& AAF &F

2) Mahatma Gandhi

FETeAT e

3) Pope Paul VI

9 GYef VI

4) Smt. Indira Gandhi

Al gleer aitedr

Correct Answer: Mahatma Gandhi
FETCHT A1l

Candidate Answer: [ NOT ANSWERED ]

Question 43.Who won the first medal for India at the Rio Olympics?

Y 3iefPaed 7 AR & fov gge 9 fhae Siar?
Options:

1) Babita Kumari

Sfar ey

2) Narsingh Yadav

e e

3) P. V. Sindhu

. dr. iy

4) Sakshi Malik

anaf Afow

Correct Answer: Sakshi Malik

@i #Afers
Candidate Answer: [ NOT ANSWERED ]

Question 44.The most serious air pollutant causing health hazard is

TIRELY T Hehe H STole aTell Fad I13TR A Tgueh HieT-A1 g ?
Options:

1) Sulphur dioxide

TR 315 IFASS

2) Carbon monoxide

Frae AT HFASS

3) Ozone

it

4) Nitrogen oxide

ARSI iTeraTgs

Correct Answer: Sulphur dioxide
HeUR 315 3iFass

Candidate Answer: Carbon monoxide

FeA AT HTFAES

Question 45.Helium is added to the oxygen supply of deep sea divers because it is

e WG & ANAERT &1 3iferefioret 3mqfet 7 Siforrs o s § =ifn
Options:
1) less poisonous than nitrogen

Tg AT A FHA STl &
2) Lighter than nitrogen

g ATSEISTT W gochr BT &
3) Readily miscible with oxygen

I HTFTT & Y ey FRAT & ey &

4) less soluble in blood than nitrogen at high pressure

IE 3T S W ARG T I&T GeT H i Golaaeh gl §

Correct Answer: less soluble in blood than nitrogen at high pressure
IE 359 S W ATGLISNT T 3T9&T GaT 7 Ff ForeT el giet &
Candidate Answer: Readily miscible with oxygen

Ig 3Rt & T STodr FRfAT gy s &

Question 46.Terylene is a condensation polymer of ethylene glycol and which acid?

éﬁ?ﬂﬂ,ﬂraﬁzﬁﬂaﬁﬁamﬁmmwﬁww%?



Options:

1) Benzoic Acid

Soiseh 3l

2) Salicylic acid

aiferarsiers 3

3) Phthalic acid

ifers 3rFer

4) Terephthalic acid

Sgufos 3

Correct Answer: Terephthalic acid

U 3T
Candidate Answer: [ NOT ANSWERED ]

Question 47.In IT, means that the data available in the database is both accurate and consistent.

AL H, T 3 § T STerer 3 39 s1er el 3R Herer Ut e |
Options:

1) Data Security

31eT fTrier

2) Data Availability

3rer rafafafeer

3) Data Binding

4) Data Integrity

3TeT Swcder

Correct Answer: Data Integrity

3TeT Secder

Candidate Answer: Data Availability
3rer rafafafedr

Question 48.0n a clean glass plate a drop of water spreads to form a thin layer whereas a drop of mercury remains almost spherical because

T T T Tole TX TTAT T S el I TS Telel TRl 57 STl & STah IR T §g MR 17 et & Fiifn
Options:

1) Mercury is a metal

IRT T & &

2) Density of mercury is greater than that of water

IR T Tecd, Tl & Heed J SATET 21T &

3) Cohesion of mercury is greater than its adhesion with glass

FT & T IR B TG, SHRT T F A @ &

4) Cohesion of water is greater than its adhesion with glass

FTT & FY T T TG, ST HFAFA I rferem g
Correct Answer: Cohesion of mercury is greater than its adhesion with glass

T & WY IR T T, SHH FAFT F 30 gl §

Candidate Answer: Mercury is a metal
IRT T &1 &

Question 49.The smallest island country in the Indian Ocean is

AT FETRR # TIH BIeT gaId-337 HiT-Ar g ?
Options:

1) Maldives

AT

2) Sri Lanka

et

3) Mauritius

Hirr T

4) Madagascar

ASETERT

Correct Answer: Maldives

AT
Candidate Answer: [ NOT ANSWERED ]

Question 50.The Chairman of the Public Accounts Committee of the Parliament is appointed by the

TEe; 1 ek T GA & reget i fAgfad wid g ?



Options:
1) President of India

R T TSCATT

2) Prime Minister of India
R T TTAHTAT

3) Speaker of Lok Sabha
Sieh HHT ST 3TET&T

4) Chairman of Rajya Sabha
T HHT T 3ET8T

Correct Answer: Speaker of Lok Sabha
e HT T 3TETET

Candidate Answer: [ NOT ANSWERED ]

Question 51.A and B can together do a piece of work in 6 days and A alone can do it in 9 days. The number of days B will take to do it alone is

A 3R B fATRR U 1 F1 6 T 31 U &Y Fehdl & 3T A 370l 38 9 T 3 X ThcT &1 B 31ehel 38 1o 1 TohcTa ot 31 & FhalT ?
Options:

1) 18 days

18 ot

2) 24 days

24 &1

3) 9 days

9 feat

4) 12 days

12 &

Correct Answer: 18 days

18 f&=t

Candidate Answer: 18 days
18 f&et

Question 52.The length of the two parallel sides of a trapezium are 16 m and 20 m respectively. If its height is 10 m, its area in square metres is

Teh THETF 1 & THICR {31 Y e ar: 16 #eT 31T 20 Fiex 1 Ffer 30T iag 10 7T &1 ot aof #llex 37 35T 81hel M1l HIfoTT ?

Options:
1) 360

2) 260
3) 240

4) 180
Correct Answer: 180
Candidate Answer: [ NOT ANSWERED ]

Question 53. A discount series of 15%, 20% and 25% is equal to the single discount of?

15%, 20% 3R 25% &I T HWeT fohelal % H1 Tehel TE & TR & ?

Options:
1) 48%

2) 49%
3) 50%

4) 51%
Correct Answer: 49%
Candidate Answer: [ NOT ANSWERED ]

Question 54.Rs. 490 is divided among A, B and C such that A's share is half that of B's and thrice that of C's. What is C's share?

Rs.490 &I A, B 3R C # 38 YR fasnfores foham it & foh A &7 9k B & 9 & 3T &1 31X C o AT A ofie AT &1 C o AT TeheAar & 2

Options:
1) Rs.49

2) Rs.147
3) Rs.294

4) Rs.245
Correct Answer: Rs.49
Candidate Answer: [ NOT ANSWERED ]



Question 55.A dealer sold an article at 6% loss. Had he sold it for Rs. 64 more, he would have made a profit of 10%. Then the cost of the article is

T fashal o el a&g ol 6% o g1feT oR S=iT| A 38 37 &% 1 Rs. 64 3T H 9T g1 AT 38 10% T oY §relT | A B offarey fehetalt © 2
Options:
1) Rs.400
2) Rs.200
3) Rs.164

4) Rs.464
Correct Answer: Rs.400
Candidate Answer: [ NOT ANSWERED ]

Question 56.There are 1400 students in a school, 25% of those wear spectacles and 2/7 of those wearing spectacles are boys. How many girls in the school wear
spectacles?

Teh Tl #1400 BT 8, 37H 25% <RAT N 8 IR AT SN aTell # 2/7 o5 &1 Thol H Toheialt eTsfendi =rear orame 8 ?

Options:
1) 250

2) 100
3) 200

4) 300
Correct Answer: 250
Candidate Answer: [ NOT ANSWERED ]

Question 57.A man can row upstream at 12 km/hr and downstream at 18 km/hr. The man's rowing speed in stillwater is

Teh T R T Tfcreer TR & 12 1.2 /8ier 3R 3fegeher TEem 3 18 foh. 0. /eier by a1fcy & tent Twell FehclT &1 AT STef 3 SHHT Filehr TTellel 1 ATt fohelelt g19MT ?
Options:

1) 15 km/hr

15 .7, /groer

2) 5 km/hr

5 fop.30. /aver

3) 3 km/hr

3 .30, /aver

4) 10 km/hr

10 .7, /gver

Correct Answer: 15 km/hr
15 f&. 7. /gver

Candidate Answer: [ NOT ANSWERED ]

Question 58.

2
If ab = 21 and (atb)

(a—b)?

25 ;
Tthen the value of a2 +b? + 3ab is

z
e ab = 2134‘1?521’;’)2: i—SETa’rahb%sabmeaﬂTs’m ?

Options:
1) 115

2) 121
3) 125

4) 127

Correct Answer: 121

Candidate Answer: [ NOT ANSWERED ]
Question 59.The value of (d5*t+ d5) + dt would be
(dS*t+ d%)+ dt T AT FT BYem ?

Options:

1) d2(5+t)

2)1

3)0

4) dt



Correct Answer: 1
Candidate Answer: [ NOT ANSWERED ]

Question 60.Possible measures of three angles of a triangle are

Teh 33357 o cfiel IUT b1 HeaeT AT T g1am ?

Options:
1) 33°, 42°, 115°

2) 40°, 70°, 80°
3) 30°, 60°, 100°

4) 50°, 60°, 70°
Correct Answer: 50°, 60°, 70°
Candidate Answer: [ NOT ANSWERED ]

Question 61.BD and CE are two medians of the triangle ABC. If EO = 7 cm, then the length of CE is

BD 3 CE f3efst ABC & #regsh 8| 9 EO = 7 @7, 81 oY CE ¥ oS foheielt § ?
B

A D C

Options:

1) 28 cm

28 .4

2) 14 cm

14 Q..

3)21cm

21 &40

4)35cm

35 3.

Correct Answer: 21 cm

21 3.4
Candidate Answer: [ NOT ANSWERED ]

Question 62.
If sec’@ + tan®6 = V3, then the value of sec*f — tan'f is

T sec?0 + tan?d = V3,5 disec*d — tan*6 1 HI fhdels ?

Options:
1) Yy

2)1
3)V3

4)0
Correct Answer: V3
Candidate Answer: [ NOT ANSWERED ]

Question 63.The greatest perfect square number of 6 digits is

6 3eT T TIH TIT U7 T HEAT FAT el ?

Options:
1) 999001

2) 998001
3) 998009

4) 998101
Correct Answer: 998001
Candidate Answer: [ NOT ANSWERED ]



Question 64.The average height of 30 boys out of a class of 50 is 160 cm. If the average height of the remaining boys is 165 cm, the average height of the whole
class (in cm) is:

50 TSI T T FHET 3 30 o5 1 A oS 160 WA, §1 AR A T i e sars 165 Wal. §, o U FaT & e oS (F.77. ) freh gefr 2
Options:

1) 161

2) 162

3) 163

4) 164
Correct Answer: 162
Candidate Answer: [ NOT ANSWERED ]

Question 65.Given a - b = 2, a3- b3=26 then (a + b)2 is

Ifda-b=2a-b3=268dl(a+ b)2H AT FITEE?
Options:

1)9

2) 4

3)16

4) 12
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 66.If X + Y + Z = 9 then the value of (X - 4)3 + (Y- 2)3 + (Z-3)3-3 (X-4) (Y- 2) (Z- 3) is

FREX+Y+Z=98ar(X-4)3 +(Y-2P3+(Z-3)3-3(X-4)(Y-2)(Z-3) F A e ?
Options:

1)6

2)9

3)0

4)1
Correct Answer: 0
Candidate Answer: [ NOT ANSWERED ]

Question 67.Three medians AD, BE and CF of AABC intersect at G; Area of AABC is 36 sq cm. Then the area of ACGE is

AABC % et #reara AD, BE 31 CF s GEY &1 G TX ieet §, I AABC T 813l 36 9.31.2 8 at ACGE &7 &athel fheiaTT § ?
Options:

1) 12 sqcm

12 3.2

2) 6sqcm

6 A2

3)9sqcm

9 &2

4) 18 sq cm

18 q.#.2

Correct Answer: 6 sq cm
6 ¥.7.2

Candidate Answer: [ NOT ANSWERED ]

Question 68.A chord of a circle is equal to its radius. A tangent is drawn to the circle at an extremity of the chord. The angle between the tangent and the chord is

T e & Siar 3HH P2 & areT &1 Shar & SR 9 god & U T0e 3@ @i S §1 Tt Y@ 3R siar & o T fhde 3er T gren ?

Options:
1) 30°

2) 45°
3) 60°

4) 75°
Correct Answer: 30°
Candidate Answer: [ NOT ANSWERED ]



Question 69.
2
Ifmsin@ = 1,mcos@ = 1, then the value Of{\@tan(gt?) +1}is

2
AT 7sin@ = 1,w cos@ = 1,E’rﬂ’r{v’§tan(§3) + 1} FIAFATEEN?

Options:
1)1

2)V3

3)2

4) Yy
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 70.The difference between simple and compound interest (compounded annually) on a sum of money for 3 years at 10% per annum is Rs. 93. The sum (in
Rs.) is:

10% 9y @ o¥ 3 a¥ & fov Rl Ui ox anemor 3R wRghe sarer (o gfaay waifera famar ST §) & o 3ia Rs. 93 &7 &1 R fanetedt (Rs. #) § 2

Options:
1) 30000

2) 30300
3) 3000

4) 3030
Correct Answer: 3000
Candidate Answer: [ NOT ANSWERED ]

Question 71.The angles of elevation of top and bottom of a flag kept on a flagpost from 30 metres distance, are 45° and 30° respectively. Height of the flag is [taking
V3 =1.732]

T TS FAH T W €T F MY 3R 30 A Hr g F et Fror e 450 37 300 §1 eaw H Fars fraeh § ? (7T V3 = 1.732)
Options:

1)12vV3m

12 V3 #iex

2)15m

15 #Hrex

3)14.32m

14.32 #rex

4)12.68 m

12.68 AlcX

Correct Answer: 12.68 m

12.68 Alex
Candidate Answer: [ NOT ANSWERED ]



Question 72.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR T I LA ¥ Ifed 31X 7ot & 3ea? Afore| e U 970 aR I 7 vas 1 1991 - 1992 1998 - 1999 da &l BT Tawel Reord (fAforrer .wa. ) # e &

&000
5040
5000
4320
4000 1720
3360
120 3120

3000

2640 2520
2000
1000

0 1351 1992 1993 1594 1995 1996 1987 1998
92 -93 ~94 g5 -0 a7 -8 -89

The ratio of the number of years, in which the foreign exchange reserves are above the average reserves, to those in which the reserves are below the average
reserves is

O aut 1 dear e wRe veaes Rerd sitad Rerd & 3¢ a1 81 3 0F ot i dear foeisitad, Rerd & o< 37 &Y, 1 3iegara o glen ?
Options:

1) 2:6

2) 3:4

3)3:5

4) 4:4
Correct Answer: 3:5
Candidate Answer: [ NOT ANSWERED ]

Question 73.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR ITH T LA W Ifed 3T 7ot & Sea¥ AT o G 70 a1 I 7 vas 1 1991 - 1992 F 1998 - 1999 deh &l BReT Taeier Rord (fAforrer .ww. §) 3 e &1

6000
5000 0D
4320
4000 i
3360
3120 3120

3000

2640 =
2000
1000

LERTTY 1882 1983 1994 1355 1996 1987 1998
92 53 4 o5 86 57 o8 .88

The foreign exchange reserves in 1996-97 were approximately what percent of the average foreign exchange reserves over the period under review?

¥ 1996 - 1997 F R Tl ReTd, 3NHT BRT TFEIST RTd T 1T fha=r Yfaerd 8T ?

Options:
1) 95%

2) 110%
3) 115%

4) 124%
Correct Answer: 124%
Candidate Answer: [ NOT ANSWERED ]



Question 74.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR AT I LA ¥ Ifed 31X 7ot & 3ea? &fore| o 4T 9710 aR I 7 vas 1 1991 - 1992 1998 - 1999 da &l BT Tawel Reord (fAforrer ,wa. §) 7 e &1

6000
5040
5000
4320
4000 1730
3360
3120 3120
3000
2000
1000
g 1991 199: 1993 1594 199\3 199e 199? 1998
g

The percentage increase in the foreign exchange reserves in 1997-98 over 1993-94 is

a¥ 1997-98 A a¥ 1993-94 Y 39T BT TereisT Retd & febetoy wrfcieret 31 serdr g% 2

Options:
1) 100

2) 150
3) 200

4) 120
Correct Answer: 100
Candidate Answer: [ NOT ANSWERED ]

Question 75.Study the following bar-diagram carefully and answer the questions. The bar graph given below shows the foreign exchange reserves of a country (in
million US $) from 1991 - 1992 to 1998 - 1999.

IR AT T LT W Ifed 31X 72t & Sea¥ QST o G 70 a1 I 3 vas 1 1991 - 1992 F 1998 - 1999 deh &l BRT Taeier Rord (fAforrer .ww. §) 7 e &1

&DO0
s000 5040
4320
4000 3730
3360
3120 3120

3000
2000
1000

o 1991 19!! 19!! 1994 1ssa 1996 1&9? 1998

-89

Ratio of the sum of foreign exchange during the years 1991-92, 1992-93, 1993-94 to that during the years 1995-96, 1996-97, 1997-98 is

a¥ 1991-92, 1992-93, 1993-94 & BT TFE=IoT R o AT 3R I 1995-96, 1996-97, 1997-98%F BT TFeiol Rofd o AT A I AT HIfAT ?

Options:
1) 31: 35

2) 35:31
3) 37:52

4) 52:37
Correct Answer: 37:52
Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

PANACEA








